| Efficiency vs Dxy |

> 0.1
3
5 0.09
>
£0.08
o
-50.07
S
90.06
0.05
0.04
0.03
0.02

0.01

......................................................................

1.9

Ratio

T LR T

10 15 20
TP dxy (cm)

0 5

—=— DQM_CKFFit_1000evt

| Efficiency vs Dz |

—e— DQM_CKFREFit_1000evt
—— DQM_MKFitREFit_1000evt

N

0.2
©
£0.18
>
20.16
ko
(&)
£20.14
(]
0.12
0.1
0.08

DOM_TESTOLHIT 1000evt

.....................................................................

i g ‘I||IH -:
1:_ -------- . ______ ‘:;[ T
0 20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


